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B.A. Programme 4th Semester Examination, 2022

DSC1/2-P4-HISTORY

HISTORY OF INDIA FROM C.1707 TO 1950
Time Allotted: 2 Hours

The figures in the margin indicate full marks.

GROUP-A / Rei9l-3 / Wve-&
Answer any four questions from the following
fr=faRea & 9 5=l IR y= & SR g
faferiie @-  51Ff6 etae Tes wie
FrfoRed @ TRIeT UH IR S8 |

1. Write a short note on ‘Dastak’.
TID R UH Gl fewol forRay |
WIS A 4T DIl #7141
TP IR U3l Hiara SdbT e |

2. Do you consider the Black Hole Tragedy as a myth?
HIT 3T ‘&b Bl AMAS] Bl U fAH A & ?
O & w1+ 2opics @b el 3 59 ¢
Black Hole Tragedy &7 UdIERII®GT IR olRe]a N |

3. What do you mean by ‘Dual Government’ of Bengal?
T BT S TR | MY FAT AT & ?
QG (7 * e TET00 FI @R 9
TASHDI Dual GovernmentdT IR IRBHR AT & (36 ?

4. Write a short note on Ryotwari Settlement.
IAATS! AT R T Afera fewoft fafag |
IASEAA ICWIRE FICF @6 WY Bl @741
NITATS! T A UICT Wiara feahT ol |

5. Write a short note on ‘Sati’.
A W TP Gfera fewelt foRay |
TOMIZ 22 I @5 PG Kzet wie )
FAT IR UICT Il oRegs N |
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6. Write a short note on Cripps Mission. 3
foreg e’ WR ues wiféra fewoh ford |
f&opa1 o 3~ofcs @i T 3re il =1
T frer aR qSeT SR el e |

GROUP-B / [{et9l-2 / @ve-g

Answer any four questions from the following 6x4 =24
fr=faRea & 9 5=l IR y= & SR ARg
fmferiee - oAl aere Ted wie
FrfoRad @ IRIST Ud IR S8 |
7. How did the East India Company obtain the ‘Grant of Diwani’? What were its 6

significance?

S ST BU DI TAFT BT IJAIE D AT ? SHBT T Haed o7 ?
335 3T @il f[Fei el o S ¢ 9 9wy [ e 9

S ST BUEiel fAaFT HE UT AT ? AHdh! A N el |

8. Who coined the term ‘Drain of Wealth’? How did it affect the economy of 1+5=6
Bengal?
'IF-FHRAT T ThasT QT ? SA dTeT DI NIRRT Bl by g fhar 2
oI AR * 7 Pl (F IE(REE ¢ @b Ik wLiferE ol eeiike
FCAME 9
‘gD FHRIT @ B YH RBT U 2 JFBT eI iegaverr #1fy

Bl TTg TNl oy ?

9. Briefly discuss the results of the Revolt of 1857. 6
1857 & Qg & TRVl & Herd H ==i $HIY |
St @9 - 93 TRIRCHIEF Fewet oI RS R F9)
1857 \rera! Ryure! faged! gRemar wféra ==t g |

10.  Write a short note on the Doctrine of Lapse of Lord Dalhousie. 6
dfe Solelvl @ '$eU HIfd IR Uh wdferg fewol forRau |
T TIERIPR TR0 WS 7 @3 f6 Tl 774
Rl R AR Sl S |

11.  Write a brief note on Swarajya Party and the role of Deshbandhu Chittaranjan 6
Das.

TERIGT UIET 3R qeEy RS & @1 YAdT 1R Ue dferd fewo faRay |
TG Wl R OIS (779 (oeaes T1-93 e 7oIF a3 (b Ik FFe 3¢ wie)

RS TGN FeUAT fCwoll oRefaR] X I Tl Qeaw] [RaRSIarad] S
T g 2 ?
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12.

13.

14.

15.

16.

4070

What was the “Great Calcutta Killing”? What was its political significance?
YT DHAG (BT R AT ? FHDI IASHITD Agd a7 AT ?

FeTPIOIF PRA 2ofipe’ [ foet 9 @7 Areafos @y 6 foe ¢

"HADhID] WY EATHIS” o U] ? THDT oD Aged B (3T ?

GROUP-C / enl-a1 / @vs-
Answer any fwo questions from the following
frfalRea & & &=l g gl @ SR difoe
faferiie - 7f6 et e e
rfoIRaa &1 g8dCT UTdl SR aEa g

Evaluate the contributions of Raja Rammohan Roy in the making of modern
India.

31 ARG @ {07 H XTSI MAAIE 1A & ANTE Bl HedidT BIro |
ST SIS Mo e FANCHNRA AT W F2IF eI |
31 ARa VAT TS IMAIET DT ANTETTIR HATS D T84 |

Trace the process of commercialization of Indian agriculture in the 2nd half of
the 19th century. What were its consequences?

19 d1 IA] & ITRE H IRAT HY & ARG B ufhar a1 = at o |
s URTH 7 o ?

Tl *feri fasid eiace FT AfMTIITae 7ooiE i F91 @3 Faiwe 5
feet o

19 SAEIpT M RO ARAD] P ATOTRIBROIBI Ufhar aR diegs | |
TADBI IRV IR Jeord THar |

Write an essay on the contribution of I. N. A. and Subhash Chandra Bose in the
Indian Freedom struggle.

AR @aaar 9™ H L N, A, 3R g9 o7 a9 & INEE R U ey
forfay |

I FATO! SNCWEA NG 7% (FS IR (TG TOE ] TAE GF0 2%
GRl

AR A= AUMHAT gAY I a9 ¥ 318390 (LN.A.) 9T IR =T
‘Iﬂg |

Write a note on Partition of India. Was it inevitable?

TRT & Ao )R Udh fewel forlRae | @=r a8 rafRerd o 2
wiTe ores & 9ais Raad e | aft & oy e o
R4 a9 IR TSeT el diegeiN | & Al e saeges forr ?

X

2+4=6
1232 =24
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8+4 =12
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6+6 =12



